H & 0l & AHS B Ml A

=X

S - BE - B9I(3H) - NRAY - BES

MEE
Ofl &k2h

37,937,643

[RAAMHIA HIS

28,748,297

21,365,150

21,018,800

21,018,800

21,018,800

140,598

140,598

140,598

= it X3 (2

83,828

e

Ofl &F2H
46,828,445
= 28,940,267
[ 2,024,100
S 5,028,888
Al 10,835,190
37,481,260
= 25,687,418
Fas 1,964,219
= 4,293,681
Al 5,535,942
28,045,235
= 22,354,278
= 2,829,006
Al 2,861,951
27,689,308
= 22,151,446
S 2,768,931
Al 2,768,931
27,689,308
= 22,151,446
S 2,768,931
Al 2,768,931
(2DEZNE) 27,689,308
HAHSN 27,689,308
= 22,151,446
S 2,768,931
Al 2,768,931
148,754
= 119,004
S 14,875
Al 14,875
148,754
= 119,004
= 14,875
Al 14,875
(208X NE) 148,754
HatE M= 148,754
= 119,004
= 14,875
Al 14,875
83,828
= 83,828
83,828

83,828




SA S
M FOIMBXAMHIA HZ
ERl: JIEZMEEE EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 83,828
01 AtR2t2|HI 83,828 83,828 0
OZR = &bl X2 83,828
= 83,828
HEE I ZHESHAMA(EX) 50,400 50,400 0
= 25,200
Al 25,200
301 LEetE2 N = 50,400 50,400 0
s 25,200
Al 25,200
01 Al 2E AL S(FREXM) 50,400 50,400 0
OX=d J=dgey & 50,400
[ 25,200
Al 25,200
M= = 52,945 51,5624 1,421
308 AHXIEMSOIH 52,945 51,5624 1,421
08 W=J|A0He 2 & 52,945 51,524 1,421
OULSS0 (XYL 2E3) 52,945
OITHE! RSH| XA (E=x) 20,000 20,000 0
=S 20,000
201 er23 | 5,500 4,000 1,500
= 5,500
01 At2t2l] 5,000 3,500 1,500
OO0IMHEl F15 Let+=EH| 5,000
[ 5,000
02 S3=gHl 500 500 0
OZdte 82| Ste=s S 500
== 500
301 EtE2 N = 14,500 4,000 10,500
=S 14,500
01 A2 HSHS(RNEERTHE) 14,500 4,000 10,500
OMdi+= =28 7 14,500
= 14,500
FAAHSXH 3,697,529 2,744,653 952,876
= 840,140
[ 1,728,423
= 332,733
Al 796,233
218=T(EX) 1,040,800 1,024,501 16,299
= 832,640
< 104,080
Al 104,080




SA S
M FOIMBXAMHIA HZ
e FHASAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 1,040,800 1,024,501 16,299
= 832,640
== 104,080
Al 104,080
01 AR 2EHSHS(RNEXRTHE) 1,040,800 1,024,501 16,299
O2E=kIXE 1,040,800
= 832,640
=S 104,080
Al 104,080
At 5 3,000 3,000 0
307 elztol & 3,000 3,000
0192 & 3=H| 3,000 3,000
Ogdd Xt 2= 20,0002 »150H 3,000
NASD =0ALUEEE X 252,000 226,200 25,800
301 EtE N = 252,000 226,200 25,800
02 A2 H G (FHAAHS, NLWE) 252,000 0 252,000
ORASZD 2 ALLEE
21,000,000« 1291 & 252,000
SRASUOHLE &S NE 10,800 10,800 0
301 EtE NS 10,800 10,800 0
02 ARSI 2E A S(FANS, XLETHE) 10,800 0 10,800
o&IIe3 10,800,000 10,800
FHot aal/otd MHIA MBS 15,000 78,000 263,000
201 er23| 15,000 18,000 23,000
01 At2tltl 3,000 3,000 0
O100t+t R aE A A 3,000
02 S3=4gHl 12,000 15,000 A3,000
O120k5 QR AEAHIA 12,000
II=ZZEEYWIANY KR (EX) 32,400 26,400 6,000
== 8,100
Al 24,300
307 212+01& 32,400 26,400 6,000
< 8,100
Al 24,300
11 AMEISXAEEE 32,400 26,400 6,000
O3z 2N 32,400
= 8,100
Al 24,300
JIZFEWIAY XA (XHA) 30,000 30,000
307 gl2to| & 30,000 30,000
1 AMISXAIEEXE 30,000 30,000
OJI=&Ew3 23 XE 30,000




2A:
PSR
ool

SA - B S9I(B1) - KIRA - ol b e HlmS2

KETES ASIMHIA SETAI(EX) 1,337,761 1,375,752 A37,991
= 1,070,209
= 133,776
Al 133,776

201 B2 AL| 500 884 A384
s 400
= 50
Al 50

01 AR2teld| 500 884 N34
OXIG A2 Al A EXAIY 23| 500
s 400
= 50
Al 50

202 04d| 1,000 1,000 0
s 800
& 100
Al 100

01 =LHO4 b 1,000 1,000 0
OXNSAIRI MBI A EXFAIE Y| 1,000
s 800
& 100
Al 100

307 gI2Hol M 1,336,261 1,373,868 A37,607
s 1,069,009
& 133,626
Al 133,626

11 Al S XAIEE 1,336,261 1,373,868 A37,607
OXISG A2 MEIA EXEALS 1,336,261
s 1,069,009
= 133,626
Al 133,626

Y O2d X3 AY 12,500 0 12,500
s 10,000
= 1,250
Al 1,250

307 2I2+01 A 12,500 0 12,500
= 10,000
= 1,250
Al 1,250

11 AR SXAMEE R 12,500 0 12,500
O34 084 XA 12,500
s 10,000
= 1,250

~
|




SA S
M FOIMBXAMHIA HZ
=t FHUASKE (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 1,250
LalEsSAHIA A 458,000 458,000
[ 366,400
= 45,800
Al 45,800
201 er2 3| 6,000 6,000
[ 4,800
= 600
Al 600
01 At2teltl 6,000 6,000
Odd=sAtIA Al 28| 6,000
= 4,800
< 600
Al 600
202 04l 2,000 2,000
= 1,600
< 200
Al 200
01 2LHoIH 2,000 2,000
OgassMHIA A 0] 2,000
= 1,600
== 200
Al 200
307 glztol & 450,000 450,000
= 360,000
== 45,000
Al 45,000
11 AMRISXAEEES 450,000 450,000
OgassSAHIA A 450,000
= 360,000
=S 45,000
Al 45,000
NETES MIIMHIA STAIG (EX) (M8 (OtARY 362,268 362,268
L2 RIAAY)
s 281,814
s 35,227
Al 35,227
307 212+01& 362,268 362,268
[ 281,814
= 36,227
Al 35,227
1 AMISXAIEEXE 362,268 362,268
OJtArtg &2 el At XIE At 362,268




SA S
Ho: FOIMEBTRAHIA U2
=t FHUASKE (CH9: &S1)
SA - ZE - BR(30) - HRA - B of v e HIDE2
= 281,814
=S 36,227
Al 35,227
2E2E '2(N)EL AblA K& 84,000 0 84,000
301 2eEN= 84,000 84,000
02 A2 EH LGS (FHAAHS, NLWE) 84,000 84,000
ORz2Y '2(N)5L' AHIA X 84,000
H=012 XIOHKIE At 54,000 0 54,000
301 EtE N = 54,000 54,000
02 ALRI2EH G (FHAAHS, NSWE) 54,000 54,000
O#=0l2 XIOHKIE At
2,700,000& 20 54,000
DEAR O & 22HAH RE(EX) 15,000 0 15,000
= 7,500
= 4,500
Al 3,000
301 EtE2 N = 15,000 0 15,000
= 7,500
= 4,500
Al 3,000
01 Al EEABZ2(2REEMR) 15,000 0 15,000
OLU=AN Ol & 22IMA = 15,000
= 7,500
< 4,500
Al 3,000
SI=KIXE 554,175 635,336 A\81,161
= 235,796
Al 318,379
SEAtAIZ2IAL QI2AH] XIR(EX) 138,912 136,504 3,408
[ 69,456
Al 69,456
101 21AH| 118,012 135,504 A7,492
[ 59,006
Al 59,006
03 SRA(FIH )22 U2+ 83,284 135,504 N52,220
OSEAHIZ2IAL el24H] X2 (3") 83,284
s 41,642
Al 41,642
JRHZENSE 34,728 0 34,728
OSEAHIZ2IAL 2124l XI& (1Y) 34,728
= 17,364
Al 17,364
M HASFESS 20,900 0 20,900




SA S
Ha: ZOIMSTAMOIA M2
=t Y= (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 10,450
Al 10,450
04 R (RIHA)22N BEESRES S 20,900 0 20,900
OSEAtliZelA 28, EZ3(3Y) 20,900
= 10,450
Al 10,450
SEAtel2t2lAL 1248 X 31,913 31,572 341
101 21A4H| 31,913 31,572 341
03 SR (RIH )22+ 31,913 29,593 2,320
OSEAtdIZ2lAF == (3Y) 31,913
d2+E 2,984,310%23] 5,969
g2+ Jiits 2,180
- JAG A 420,000 12& 5,040
-HEY0=E 4,185, 1802 <22 8,371
- el 2SS 40,0002 x3&* 122 1,440
- ESE(HHRAR2, XtHH1) 1,320
- RERLIFFE(E2NA ) 482
- G2 107,800 =3+ 10 3,234
- HRY 50,000 x3& * 122 1,800
ga0i=2 2,077
ANZT SEAt2E R (EX) 15,000 15,000 0
= 7,500
Al 7,500
201 er2 3| 4,000 4,000 0
= 2,000
Al 2,000
01 At22t2ltl 4,000 4,000 0
OSeAtdi2el 28l 4,000
[ 2,000
Al 2,000
202 04| 6,500 6,500 0
= 3,250
Al 3,250
01 SLHoIH 6,500 6,500 0
OSehatdi2el 282H4| 6,500
= 3,250
Al 3,250
301 EetE2 N = 4,500 4,500 0
[ 2,250
Al 2,250
01 Al EE A S(FRNEXM) 4,500 4,500 0
OSEAtellZel At 4,500
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SA S
M FOIMBXRMHIA HZ
=t Y= (EEEE))
SA - ZE - BR(30) - HRA - B of v e HIDE2
01 At2t2ltl 5,000 0 5,000
OJIR8dst XA 5,000
A2ISXIAIE K& 4,539,241 3,226,708 1,312,533
= 2,493,000
= 1,131,942
Al 914,299
FUQAAE 2ERA(EX) 2,912,000 2,558,571 363,429
= 2,038,000
< 874,000
307 elzto| & 2,912,000 2,558,571 363,429
= 2,038,000
& 874,000
10 AlRISXAZEE 22X 2,912,000 2,558,571 363,429
OFEURAANE 2 2,912,000
= 2,038,000
= 874,000
FURAANE 2ENE (& EX) 78,084 82,583 N4, 49
= 23,426
Al 54,658
301 EtE NS 65,160 0 65,160
= 19,548
Al 45,612
2 MBI EHEAHS(HAHS, AW 65, 160 0 65, 160
OBULYNE BAK SELL (NS
3) 65,160
s 19,548
Al 45,612
307 lztol & 12,924 82,583 69,659
& 3,878
Al 9,046
11 AMEISXAEEES 12,924 13,823 A8
OFURAAIE HE=Zz 18 KA 9,925
= 2,978
Al 6,947
OZAQTAIE 4ol HaH| XN& 2,99
s 900
Al 2,099
FUQAANE JISELMS(EX) 910,000 0 910,000
= 455,000
s 227,500
Al 227,500
402 2I2FXH=201H 910,000 0 910,000
= 455,000




2A: F=X1
Ho: ZFOIMEBTRAHIA U2
=2 AlRISKIAIE X (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 227,500
Al 227,500
02 QIZEXHE A 2 (01 THE) 910,000 0 910,000
OFARAANE JISEZAS 910,000
= 455,000
= 227,500
Al 227,500
AMNEEXR XA (B=X) 25,720 28,720 A3,000
& 7,016
Al 18,704
301 LPENSZ 18,720 0 18,720
& 5,616
Al 13,104
2 AN BEA>HS(HUYHS, NYTHA) 18,720 0 18,720
OAt2l=X2 SAH S8+ 18,720
T 5,616
Al 13,104
307 2I2+01A 7,000 28,720 A21,720
= 1,400
Al 5,600
11 AR SXAMEER 7,000 28,720 A21,720
OAtglE=X2 XF=XE20d XA 7,000
& 1,400
Al 5,600
Azl=X2 K& 613,437 556,834 56,603
307 212+01™ 613,437 556,834 56,603
05 2IZteEe g 613,437 556,834 56,603
OgdAtz=X2 24 613,437
A SRR 3 2t 614,240 745,610 A131,370
ANSIER2HE XIS (HEAIY) 511,140 628,110 A116,970
301 LPENZ 511,140 628,110 A116,970
10 A =SRQABAS 511,140 628,110 A116,970
ONslZRee B4
1,000,000 *40H + 12& 480,000
OAMS=223 TII=H| 300,000& *30H 9,000
OARIER223 wSH| 2,000 2522 «50H
2,000 #2462 45X 22,140
A =232 103,100 117,500 A 14,400
301 LPENZ 103,100 117,500 A 14,400
10 A =SRQABAS 103,100 117,500 214,400
OAISIER3 SAH|
8,000 x2522 x50H 100,800
OAMII=RRA M2 2,300
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K
I-I il—l :
Ct2|:

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

840

01 ArR2eltl
OX&ZZALY 24|

hoH

=

7,000
7,000
5,600
560
840

7,000

202 044l

hoH

=

5,000
4,000
400
600

5,000

01 S0
OXE2ZAIE o]

hoH

=

5,000
5,000
4,000
400
600

5,000

206 =4I

hoH

=

8,000
6,400
640
960

8,000

01 =4l
OXg2Z A M8l

hoH

=

8,000
8,000
6,400
640
960

8,000

Mo

=

486,526
389,221
38,922
58,383

406,526

80,000

Mo

=

486,526
486,526
389,221
38,922
58,383

406,526

80,000

307 212t01&

Mo

=

2,588,368
2,070,694
207,070
310,604

2,494,808

93,560

1 ARIEXAIEE X
&

OXE2Z AN (AETYE

09_
on

Mho

2,588,368
2,588,368
2,070,694
207,070
310,604

2,494,808

93,560

12
=
b
£
o
A0
02
Ho
lul

266,946

265,75

1,190

12 -




A FRISXID
MM HASTO NEXY JlEEs
el NASS 28N EEREE)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 186,862
Al 80,084
307 212+01 A 266,946 265,756 1,190
= 186,862
Al 80,084
10 Al =S XA EBEER2IHIE X 266,946 265,756 1,190
OXISRedH 29| 266,946
= 186,862
Al 80,084
KNS TEHE SANSESSH(E EX) 12,240 0 12,240
= 3,672
Al 8,568
307 QIZ2t01 A 12,240 0 12,240
= 3,672
Al 8,568
10 AISIS XA EEE2IHIE R 12,240 0 12,240
OXYGREHEH SANSEESEHE BX) 12,240
& 3,672
Al 8,568
KNS TEHE nsEH XN(E BX) 3,000 0 3,000
T 630
Al 2,370
307 2I2+0l ™ 3,000 0 3,000
= 630
Al 2,370
10 AISISXAIEHE2ZHIEX 3,000 0 3,000
OXNYTEAE WEL N (s BX) 3,000
& 630
Al 2,370
225U A2 (EYIISIST)(BEX) 40,41 49,805 A9,3%4
= 32,329
Al 8,082
307 212+01™ 40,411 49,805 A9,3%
= 32,329
Al 8,082
11 Al SXAEE X 40,411 49,805 A9,3%4
O3|I218E 2245 EH2 XA 40,411
= 32,329
Al 8,082
225U+ NAE 2RI (GYIS28F) (BX) 28,625 0 28,625
= 22,900
Al 5,725
307 212+01™ 28,625 0 28,625




SA F2US
Y YASED BN JIBEH
el NASS 28N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 22,900
Al 5,725
11 AMEISXAEEES 28,625 0 28,625
Ol |z28d 2245 ddd= K& 28,625
= 22,900
Al 5,725
2z sHAUsTSANAEFSANA(UHLIISSE)(EX) 5,726 9,458 N3,732
= 4,581
Al 1,145
307 @12t0| & 5,726 9,458 A3,732
= 4,581
Al 1,145
11 AMEISXAEEES 5,726 9,458 A3,732
OULII=sE 224 FHels X2 5,726
= 4,581
Al 1,145
2RSSO S S (FHELIIBSY) (2 41,985 85,59 £43,614
%)
= 33,588
Al 8,397
307 @I2to| & 41,985 85,599 AN43,614
= 33,588
Al 8,397
11 AMEISXAEEES 41,985 85,599 N43,614
OFIIWII=SE 2245 Hels N2 41,985
= 33,588
Al 8,397
2z sHAJAs+SNALFSANH(FEMSAH ) (EX) 38,150 65,610 A27,460
= 30,520
Al 7,630
307 gl2to| & 38,150 65,610 A27,460
= 30,520
Al 7,630
11 ARRIS XA E X 38,150 65,610 N27,460
OFENMFAN 2245 Tz N 38,150
= 30,520
Al 7,630
2 sAJsFS AL +=SAN (B L H=ZAHE) (EX) 65,705 54,463 1,242
= 52,564
Al 13,141
307 el2tol & 65,705 54,463 11,242
= 52,564
Al 13,141
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